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Obtain the fundamental solutions given in (1) and (2) by the variation-of-parameters method.
More specifically, write the solution of
Y +(K2-u(@)y=0 intheform y= Alx)e™ + B(x)e ™
and show that one may obtain
A(x) = (2ik) jo‘dx'uye**kt' +Cy, B(x)= (zik)*‘j;dx'uye”“' +G,.
For fi(x, k) obtain G =1-(2ik)™" " deuye™ and €, = @iy [ dxuye™.
For f,(x, k) obtain G = (2ik)‘1_[i d'uye™ and €, =1-(2ik)™ jidx’uye“‘*ﬂ

The corresponding functions A(x) and B(x) now yield the results given in (1) and (2).

2 S
The fundamental solutions for the potential u(x) = —2sec h’x are

% (ik — tanh x)/(ik —1)  and
A (ik{ tanh x)/(ik —1).

Show that ¢y, (k) = (k—i)/(k +1i) and ¢;1(K) = cpp (k) = 0.

Thus Ry, = Rg = 0, and the potential is reflectionless.




